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�( )*�+)�,-$ ./�/)�,0$ .1�2)�3 2+�+4�56

�� ������� ����������  !"#�$���#�%!����� "�����!��� ���#�����%!���& '��(#)

����� �� ������� ��������� � ����! ���� "��������#��"��� �$���!�% &'(')� %��%� �% �!����*
������� � ��"��+���  �!��������#��"�� !��������� &,-.) "��������#��"�� ������ �� !�����
/ ��� !��0�!���% 1��������� ��" ����� ��2 ��% 3� ��������% ,-. � � � �� �#��"�� ��� ��� ���4*
������ ����� + /���" ������ �!����� ����3 � ��"������%�� #�� �$2 τeff 2 �� �!������6 � ��!�"*
 �!��� �!������� ���0 �4�� /���6$�� ��� ���� 1 "��������#��"�� �� 3�$��  �"�� ���0 �4��
%��%� �% ���!�� 1��������2 � 4����  �#��2 7 �4!� ��% ����#��� ����!����#��"�� �!���������
���0 �4���� ��" �!�2 a(t)� 8 � �!����� " ����369��3 ����� ���3 3�����6 ,-. � !��0�!%6*
9���% 3�+ !�!��% ���� �"�� "��������#��"�� �������:

ȧ

a
τeff ≪ 1,⇒ ȧ

a

1

n(t)σtot
≪ 1, &���)

��� a(t) 7 ���0 �4��� ��" �!2 ȧ ≡ da/dt2 n(t) 7 ��� ��� + #���� #�� �$2 σtot 7 ������ ��#����
!����%��% #�� �$ � ��!��� � ��"������%��

���� 
��
������ �
���
���������� ��������
���

;� �!��#�� �#��� !��"$��  ���
a+ b ⇄ c+ d. &��	)

������ +6 �������6 �% ��3�% "����� �#��"��� ����!��� ���2 s � t &��2 ���!���!2 <	℄ &����)):

s = (pa + pb)
2 ≡ (pa + pb, pa + pb), &���)

"���!� �� /��!��� � ��"���69���% #�� �$ � ��� ��� $�� !� ����2 �

t = (pc − pa)
2 = (pb − pd)

2. &��
)

!��% ���� �"�� "���!� �� ��!�������� ���3�+��:�� ����� (p, q) ≡ gikp
iqk 7 �"��%!��� �!���*

������� ��" �!�� p, q � ���� ��+�� �� !�"� g2 a, b 7 ����"�� #�� �$2 i, k = 1, 4>
√
s 7 /��!��%

� ��"���69���% #�� �$ � $�� !� ���� &?@A)�

�������� ��	�
��
�������������
����� ��������� ��℄  !""#$
�%& '&(����� �)��*+'�*,- ���.��, �/���0 G = � = c = 1�
�1'.+� ��/��.�2� 3.+ 3�.�.�)2 �� ��,.�. �+'��/���� +(+4��3���5� 
 6 '���2 ' ��.��*� 7��/����� 8 6 �� ���

.��'�)� +/�+'������+ 
� 8 � *�����.�3��*�� ��'�����.&� 9.� +(+4��3���2 2')2-.�2 �.��/��.�&�� � �& �� �+3)�
��+(:+/��&� �: ���2.;�
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� �	������
 ������
�� F (s, t)� ���������	
� ��� ��������� �����
�
��
�
�����
�
�� �	������
 ������
�� �� ������
��	 ������� c � d� ����
������ ��������	� ����
�� ���� ���� �
�����
��� 

|MFJ |2 = |F (s, t)|2, !"#$%

&�� Si ' ���

 ������# ( ��	���� �
�����
�
�� �	������
 F (s, t) ������������ ���
�� ����
��
������� !"#�% 

σtot =
1

16πλ(s,m2
a,m

2
b)

tmax
∫

tmin

dt|F (s, t)|2, !"#)%

&�� mi ' 	���
 ����� ������� λ ' ��
���� ����&���
��� 

λ2(a, b, c) = a2 + b2 + c2 − 2ab− 2ac− 2bc,

�

tmax
min =

4

s
[(m2

c −m2
a +m2

b −m2
d)

2 − (
√
λ∓

√
λ′)2],

&�� ��� �������
�� ���
��
 �+��
���
�� 

λ = λ(s,m2
a,m

2
b); λ

′ = λ(s,m2
c ,m

2
d).

, �������������������	 �������
pi
mi

→ ∞ !"#-%

�	��	 

s → 2(pa, pb); t → −2(pa, pb); λ → s2;

tmin =→ −s; tmax → 0;
s

m2
i

→ ∞,

� ���	��� !"#)% �
�������
� ���������� �����
��	 +�����	��
�� ����	�

�� 

x = − t

s
: !"#.%

σtot(s) =
1

16πs

1
∫

0

dx|F (s, x)|2. !"#�%

/���	 �+����	� ���
�� ����
�� ������
�� ������� ���� �� ��
�	��������&� �
�����
�� s 0 ����0
���� �
��&�� �������������� ������ � �����	� ��
��� 	��� 

σtot = σtot(s). !"#"1%

2	�

� ��� ������	���� � +���� ��������� ����
����
��	 ������
�&� ���	���
�	������&� ���0

������ � ��

�� ,����

��#

���� ������	 
���
���
�� σ(s) �� ����	

 ��

������	��� ���

, �������
����

�0������� 	������ 3���	�
��� ������� +���� ����	���������� � �������

ds2 = dt2 − a2(t)(dx2 + dy2 + dz2) !"#""%

�
��&����	 ���4�
�� �������� ���������� 	�
��
� !�	#� 
����	��� 56℄ !"�.�%%

p̃ = a(t)p = const, !"#"�%

&�� p =
√

−gαβpαpβ ' ���������� ����	��

� �	����� !α, β = 1, 3%� a ' 	�����+

� ������#
/���	 �+����	� ��� �������������������� ������

s ∼ p2 ∼ a−2. !"#"6%

����� �����	
� � �
� 
���� ������ 
	����� ����
���
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����� �

��� �� s

σtot ∼ sν ������

� ����������	
��	 
���
���� ��
������ 
�
������ �
����� p = κε� ��� p � 
���
���� �
�	����
�
ε � 
���
��
� �	����
��  ������� κ � ��������	�� ���������� ��� �
	���� 
�!�
����� ��	����
��
	
 �

��� n(t)a3(t) = const ������ " 
	����#��� �$���� %�℄ ��'()��
���������	� 
 ��� ������	��� �
�����

4ν + 3(1− κ) > 0; (κ 	= −1), ����*�

��� ����	�����	�
� �� ������ 
������ ��
���	���� � �� ������� ������	�
�� ��	�� ��� 

ν > −3

4
(1− κ) ⇒ LTE : t < t0, ����)�

� ��� ������	��� �������!� � "#�#$% �
����� ��� ������	�
� �� ������ 
������ � ��

�����&
����	�
� �� ������� t > t0�

+ �

���
���
10� � 
	��
� �	���
��	�����
�
"��� ��
������ 
�
������ κ = 1/3 ��	���� �� ����)� �
	���� 
�#�,

����
��� -./ �
 �
���! 
�
���! �

0������ %�℄ 1

ν > −1

2
⇒ LTE : t < t0, p =

1

3
ε; ����2�

20� � 
	��
� �����	��� 3�
�"��� ��
������ 
�
������ κ = 1 �
	���� ������3
��� 45� �
 �
���!

�
���! � �
��0���� �
 ������!  "���
	����� �
	���� 1

ν > 0 ⇒ LTE : t < t0, (p = ε) ����(�

���
��
 
	������ ��� ��� ��
������� 
������ �


����� ν = 0 � 
	��
� �����	��� 3�
�"��� ��
�,
����� 
�
������ ����� ���7#� �$�
�
�� �� �
	���� -./ %�℄� � �
  ��8 
�
��� �

0������ ��
+
�	����8 -./ 
�#�
����� 	�7� �� �
� ������
� 	�7� �
���
 ��
��
������9
30� � 
	��
� ���	���� κ = −1 ��� �$��	����� �
	����

ν > −3

2
����'�

-./ ������3��
��
� �
 �
���! 
�
���! �t < t0� � �
��0
��
� �
 ������! �t > t0�� ��
	������
�
������
�� ����� ��� 
�!�
����� ��	���� ��
	
 �

��� �
 ���	�������8 
�
��� �

0�������

�� ��	�	�	�������� ��	�����	������ �����	� �������	�

���� �����	�
��� � 
����	��� �	����

;	� �

	����
��� "�����"� �����

�� � �
���8 +
�	����8 ���7!����� ��
�� 

���������
"��
��������� ���
��
���$! 
��	���� F (s, t) � �����	� ���2�� <��������$�  "
��������
	��$� ���,
��3��
�� ���
�����$ ��
�������

√
s �����"
 ��
"�	�"�! .=>� ?$	� 7$ ���
����3�$� ����
��
�

�
 �� �	� ���� ��	���� ����	� ��
�����8
���� �	� �����������
��� 

���������
"��� ������,
��� 
������ �


����� � �7	

�� 
���!�$
�"�!  �����8 �����"
 1011 ÷ 1016 .=>� ?�	�� �
�����
� 
��������$! �
	����! ����
��
� �
 �$���$ 
"
���
����
"�8 ������ S,�
����$� ��	�����$�
�
 �
���� ����
����
	��$! �
"���� ����
���
��� ��������
��� �

0�
7��8 ���
��
����
�� �
���� @���
���
�� S,�
����$ �������� " ����
����� 

���������
"��� 
�����0���� �
��� �
���,
���� %*℄�A

dσ

dt

∣

∣

∣

∣

s→∞

∼ 1

s2
�B���

�� ������� �� ��	
���
� p� �
������ �������� 	����� ������� �������� p�



��������	��
����� �	
��
���� 
 ���������� ��������� ������������ ��

��� ���	
���� s 
��
 ���������� ��
�
��� ��
�� ��� ����
�� ������ 
��� ��� mi �������� �����

�
� ����
����	��� 	������  � ����� �� ���!� ��
��
�"

F (s, 1)|s→∞ ∼ #$%&'. �(�(�

)�����
 ���������� 	�
�
�� 
�
�
�
 *��� 


�
�� +�,� +����� 
 �!-. �� ����
���
���� / 

/0
������ �
����� 12℄� 4�
��� 5��6 ��*��
� ��� 5�
���
6 ���������� ��
�
�� 
 �����
6�
� *��
�
�������� ��/�7 /����	
�/�7 5�
���7� 
��
 /�����6 ��
/��8�
��� ���� 5��
/��
���� �
	
���

������
6��
�� � ��

�
��
 �
	
��� 
������
6��
�� ���	���
��� ����
�7 ������������  ����0
�
�� ��� ������������ νe : ����
���� 5�
���� ���������� ��
�
�� Eu =

√
su �����
��
� �����

������
�� 1;℄�
√√

2π/G ≈ 600 <=>� ��
 G : /�������� 5�
/������*��� 
������
6��
���

���� ������	��
���	� �	
������ ��
���� ��������� 
�����


 	������ �
���
��	��� �������

 � ����

 �/�������	
�/�6 �
���� S : ������� 
 2.0
 ���� ??0�� ����
��� *��� ����	
�� ������

������	
��� �� ���������	
�/�
 ��

�
��
 ������ �
	
��6 � ��
��������� �������� ����
����"

C1

s2 ln s
< σtot(s) < C2 ln

2 s, �(���

��
 C1, C2 : �
��

����
 /��������� @
����6 ��
�
� �(��� *�� ������
�
� 
 ��*���� 1�℄ ��!2��� 1A℄
��!2��� 1!℄ ��!22�� �����6 : 
 1�.℄ ��!2-�� 1��℄ ��!2;�* ��� ��/�
 �*��� 
 /���
 1�(℄ ��!2��� B��
���
��/�
 ������	
��� �� ��
��������
 ��������� ����
���� 1�(℄"

|F (s, t)| ≤ |F (s, 0)|; �(�-�

C′
1 < |F (s, 0)| < C′

2s ln
2 s. �(�;�

)�5���� ��
��������
 ��������� ����
���� 
 ��
�
�
 ����� ������ *��� ���/����� ����
�
�
�
���6 x = −t/s� ��
�"

|F (s, t)| = |F (x)|, (s → ∞). �(�2�

 � ����� 
��
���
�
 ���!�

σtot(s) =
1

16πs

1
∫

0

dx|F (x)|2 =
#$%&'

s
�(���

C �����
 �
	
��
 

�
� �
*� ��/�
� /�/ � �
	
��
 5�
/������������ 
������
6��
�6� ��
�� ���
�

��
���/�� 5�
����� 
�������
��
�
��� �/
6�����
4/
6�����
�� ���������/� �
	
��� �(��� �
��� ������ ����
���
 �
��� 
��������� /��6��0

�� ���������/��� ������� �
	
��� ����
���� �(���� D���
 ���� ��� 
�����
��� �(��� �
������	
0
�/� 
������7��� � �������
���� ����	
���
 �� ����

 �/�������	
�/�6 �
���� S0������� �(���
� �(�(��

���� ���
�������	� ������	��
���	� ��
���� ���������

E��
� 
 �����
6�
� ��
��������� ����	�
 �/
6����� ��� 5�
����� 
��
 ���������� ��
�
0
�� s → ∞� @����/�
� 
����� � ���	
��� /�������� 
 ������
 �(��� � ��/�
 � ���������	
�/��
���	�
��� 5��6 /��������� F�� ���	
��
 ����� ��
���� �� ��
��78�� ������� ���*���
��6�
@�0�
�
��� ����� m : ����� ��/�� ����/�
�78���� 	������ )��/���/�

√
s : 5�
���� 
������
60

��
�78�� 	����� 
 ����
�
 �
���� ����� �� ����������
 ���	
��

√
s ��� 	
���
�	����	���

�
�/��6 � 	�������� ����� m ��
��"

√
smin = 2m ⇒ smin = 4m2. �(�A�

,��

� 
��� 

��� ��
� �*G
���
��� 
�
� 
������
6��
�6 �� ����/�
�/�� ������*�� 5�
����
Epl = mpl = 1� �� ��� s ∼ 1 
�
 	
���
�	����	��
 
������
6��
�� ������ �����
����� 
�����
�
	
��
� ����
����� �*����
����� �� ��
� ������
�������� /������� G, �, c� ��
�� 
 
�*�����6
���� ����
�
 
����� ������ *���"

σ|s∼1 = 2πl2pl ⇒ σ(4) =
8π

spl
(= 2π), �(�!�



�� ����� ����	
��

����

spl = 4m2
pl = 4 ���	
�

� 
���������� �������� ��������������� ���������� s� ��������������� ���� ��������������

��������� ����� mpl � ���
���������� ���!��"� lpl�

mpl =

√

�c

G
(= 1), lpl =

√

G�

c3
(= 1). ���		�

#������ ��� ����� ���"$ �� 
���������% ���!��"�% &������ ������� ��������� 
����� �� ���� 
�������$� ������� �� ������� 
������ σT = 8πα2/3m2

e �me � ����� &��������� σT � ���
�����'
���� ������� ���������� ��� &�������������$% �������� ���� � ����� 
�� s ∼ 4m2

e� ��� ���(��

����) �"����� 
��
��*�����)�� s� ����� �
��)'���� 
� ������ ��� ������ +������� ��� &��� ����
�������� ��� ����� ���������$� ������� � 
��)�� ������������� ��� ����� � �"����� �$��'
��% &����� � -������������� ������� &�� ����������)� ������ ��������	
��� ����
����������

������� ��������� �./0�� �
���$� 
�����(����� � ��"���% 1	�℄� 13℄� ���� ���(� 1	3℄��

σ0(s) =
8πβ

sL(s)
, ���	��

��� β ∼ 1� L(s) � �������������� �������

L(s) = 1 + ln2
(

1 +
s0
s

)

> 1, ���	��

������� �� ��������� �"$����� ����*�� ��������������� ���������� s �

dL

ds
< 0,

� s0 = 4 � ������� 
���� &������ ���% �����������%�� 
���������% ����� ��� ��� �� 
���������%
���!��"�% &�������

L(s0) ≃ 1, ���	3�

' 
�� &��� �� ���
��������% ���!��"�% &������� ����� 
�� s = m2
e�

1
√

L(m2
e)

≈ 1

102
≃ α ≈ 1

137
, ���	4�

��� α = 1/137 � 
��������� ����� ��������$�
5�����!���� ���	4� 
�������� ������������) �������� 1/

√

L(s) ��� �������������� ��������
���������� &���������� ��������� �������� ������ ���� � ���� ������)� ��������� ���������
"�����% �������� �������� ����� ���������$% ����� �����������)�$% �������� ���� ��
�
SU(5)�

6�������� ������� ���	��� ������� ��������� σ0� ./0� �"������ ����� ���������)�$% ��� ���
���� ���(� 789:;< 	��

1o� ./0 �"�������� ��!) �� �����������)�$% �������� G, �, c=
2o� ./0 ����� ��"� ���� ��� ��� �������� ��(�� ������ 
�������� ��(�� �����(�$�� ��� ����

�������� ����
����������� 
�������� ������� ������ �����������$% � 
����)� ����
��������� 
������ S'�����*$=
3o� ./0 � �������������� �������)� �������� ��� ������$� �������� ���������=
4o� ./0 � ��������)�� �������)� ���
����� �� ��������������% ���!��"�% &������ � ���������
���% �������$% �����������)�$% 
��*������ ������� �� &�������������$% � ������ �������*�'
���$��� �� �������� ���
����� ������� &������ ��� me �� 1022me� > 
�� &��� �������� 
������
��������������� ���������� ���������� �� 33 
������? ���� 789:;< 	��

6 
���$����% ��"���% @����� "$�� 
�������$ ���������� �"������)�$� ��������$ � 
��)��
��� ��������� 
�������� ������ ��������� ���$��%�������$% ����*� � �"����� ������� ���

�� ���������� 
����	�� 6 ���������� "$�� 
�������� ��������� ������ ��������� �������$%
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�����  ����"���� ������� ��� ��
�
�����

�
���� ��

����� ���������	 �����

��� �� ��������	� &�"��� �� 
��"�' � 
��
�� ������� ����
���������� ��� ��� ��� ����� ��� ��������	 ��
�
����� 
�
���� ��

������ ( ������������� �
�
�� �� ������
� ������������
���� � ����� � � �� ��)� ������ �
�	 �"���� ��
����� ��  ������
��������	� ���"���!� 	������� ���
��� ����� 
�� �� �������
��	 ��
*����	 �������� 
�
���� �"���
�� ��
����  ����� ����! �������
��� ����
���� �� ��������	� ��
�����! �����
� ����� ����"��

�
���� ����� � ����� ��� �������!���� �"���� ��
���� ����� ���
�! �� ++ ���� ��� ��
����

 ��
*����� ���������������	 �"���� ��
����� , ��
������� "����� ������� �����  ��! ���

������
���� - ��� σ ∼ 1/s�

��� �� ������  �� �
�������� ����� &�������
*������� �� ���"������' �� ����� �� � ����

���!� 
�������� ����
�� �
�������
�
���� 
�
���� ��

����� ./�0/1 
 
�
������ ��

����� 	��
��*� �"�
����	 ��������	 
�����	
�
��
��	 �����

�� � �����
�
��� ������� .��
� 01�

���� �� ��������� ������	�
���
� 	������ ��		����� ������ ��� ������� β = 1 	
����	����� 	�������� ����������
���� �����		�� �  ����� 
����� !��������� 
����
	������	����� 
������ ������	�
���
� 	������ ��		����� ��� ������� β = 2� "� �	� �#	��		
��
� ��� �������� ��	������
� 
�
������ �����
� ����������	��
� ����������$ lg s$ �
�
�����	��� ��������% �� �	� ������� ��
� ��� �������� ��	������
� 
�
������
#����������
� ����������$ lg sσ(s)� � & ����	����	��� ��		�����$ � & ���������	���

��		����� �� '
�������� ��� ESCM = 10 ()*$ + & ���������	��� ��		����� '
�������� ���
ESCM = 1 ,)*$ - & '
�����	
�#�� ��������.	���� 	 ���	����/ W & #������$ 0 & 	 ���	���� Z
& #������$ 1 & 23#������ ��� '���
�� ������� 4 5)* �σ ∼ 1067�% 4 & SU(5) & ��������.	����

��� ��		� 	������ �
�� 83#������ 1015 ,)*$ 9 & 1014 ,)*% : & 
�������������
��������.	���� �� �
�����	��� ��	;��#��� <������
���� ���������� 
���� 	������	���=�
��������� '���
�� ��������
� �����
� �
� SU(2) × SU(1) & ��������.	���.$ Eu = 617 ,)*$

� >?�0� & ��������.	���.$ Eu ∼ 1014 ,)*�

3�� "���
����!��� ��
�
��� 456� ��� ���� ����� ���! 
��
������ � ��"������ ��� �  ��!�
���*�� ��������! 456 � ��
�
��� �� ����� �������  �� �
�������
�
���� "��
���� 
�
����
��

�����  �� �
�	 �"���� ��
�����
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� ����
�
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���� ����
������� 	��
�����
��������� ��
�����
�� 
 	�'
������
�
��
���� ������� ��� ������� ���(����� 
$������(�

�(�
)
�
 ���
 �
���
�� ����
�( ��� 	

��*����� � 
��% �
�% �� ���(��( ����% 
 	�'
������
�
��
���(
��������(% +,- ����� ���	.�
'��� /
��% �	��� ������
��
�
' ���������� �$�
������ ���������
����� ���
�� 
 ��
���� 0������� �����#� 1���� ������������� �����
�2
�� �	�������3

fa(x
i, pk) = fa(t, p). ����#

����
�
��
���� ����
������� 	��
����� �
����
��'�� ���������5 �$�
�����5 ������������(
����# �������2
 
�� ����������
� ��� 
 ��6℄% ��7℄% ��8℄% ��!℄% �� ℄#3

∂fa
∂t

− ȧ

a
p
∂fa
∂p

=
1

√

m2
a + p2

∑

b,c,d

Jab(t, p), ���"#

��� Jab(t, p) 9 ��
����� ��
���5���
����5 ������( �� ℄% ��8℄3

Jab(t, p) = (2π)4
∫

dπbdπcdπdδ
(4)(pa + pb − pc − pd) ����#

×[(1± fa)(1 ± fb)|fcfd|Mcd→ab|2 − (1± fc)(1± fd)fafb|Mab→cd|2 ],

$���� ± ���

�
�

	2
 ��$���� �+# � ��������� �−#% Mi→f 9 ��
�����
��� �����
	�� ���������
����
� �$�����
 	��������� �� ���
������ ������$���� ���
��#% dπa 9 �������
����( :�����

��;��� ���	�'����� ����
����

� a�
�( ���
���3

dπa =
√−g

ρadp
1dp2dp3

(2π)3p4
, ����#

ρa 9 ���
�� 
���*������
<����
�� ��
����� ��
���5���
����5 
$������(�

�( ����#% �����'$	� �
�(�

� �$�
�����

������������( fa(t, p)� =�� 
��������� �
	5

�	
�����5 ��
������
���( �� ���	�'���� ���������� ����(��� 
 �����'�	2 ���
��	 ���
��
����% 
 ��
���( ��
������
���� ���
���
�� :�����
����� ����� ����
���� �������$�
���� >�����
�� � ����5��� � ����������( ���
��� ��������
 
 ���	�'���� ����
����

� 
 	�'
������
�
��
�
���� ������� ���8# ��(��� � ��℄% �"?℄#3

Jab(p)=−
2Sb + 1

(2π)3p

∞
∫

0

dq

4pq
∫

0

ds

16π

1
∫

0

dx|F (x, s)|2×

2π
∫

0

dϕ{fa(p)fb(q)[1 ± fc(p−∆)][1± fd(q +∆)]− fc(p−∆)fd(q +∆)[1±fa(p)][1 ±fb(q)]},

���6#

��� x = −t/s ��$��$������ ���������� ���!#% �

∆ = x(p− q)− cosϕ
√

x(1 − x)(4pq − s). ���7#

���� �	�
���������	 ��
	���	���	 ����
	
�
 � �	���
��

��
����
� �����	�������	�� �������
����

<��
�
�� 
�
 ���
% �
� ���������� p̃ ����"# �
���
�� ��
������� �
�*���� 
 ��
���� 0�������
� ��� :
�� ��� �2��( �	����� Ψ(t, p) ����
 ���
� ���
��.���� ��6℄3

∂Ψ(t, p)

∂t
− ȧ

a
p
∂Ψ(t, p)

∂p
=

∂Ψ(t, p̃)

∂t
, ���8#
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���� 
 ���������� ��������� ������������ ��

�������	
�� �
���
����
� 
������
� ��� ���������� 
	�������� �����������
� � �
�
�

∂fa
∂η

=
a

√

m2
a + p2

∑

b,c,d

Jab(η, p), �����

�
�� �������
�� �������
�� p = p̃/a�

�����
� ��� 
 ��
"�� ������� ������� � ���������� �#�#$� p̃ ����
����
 �������� �������&
��� �������	����
�� � ����������
 ����
������
 �����������


ds2 = a2ds20 = a2(dη2 − dl2),

��
 ������� �
	
������ ���������� 
��
���� p �������	
���� �� 	����
�

p =
p̃

a
. ���'�

(��
� ����	�� 
��
������ ���������� �#�#$� p̃ ���� �����)���� ���
�
�� �
	
�����"� 
��
����
� ��������� ����������
)*�� ����
������ ������������ ���������� ��
�
	��� � η + ���������
���������� � ,��� �������������

-�������
 �
��� ����
. n(η) 
 ��������
 
� ,���"

 ε(η) �����
������ 
	�������"� ������&
�����
� ����
. f(η, p) ��������)��� ����
���
��

n(η) =
ρ

2π2

∞
∫

0

p2f(η, p)dp =
ρ

2π2a3

∞
∫

0

p̃2f(η, p̃)dp̃; ���#/�

ε(η) =
ρ

2π2

∞
∫

0

√

m2 + p2p2f(η, p)dp =
ρ

2π2a3

∞
∫

0

p̃2
√

m2 + p̃2/a2f(η, p̃)dp̃. ���##�

0 ���	
 � ,�
� 
����� �����
 ���������� ��������
 �
��� ����
. ñ(η) � ��� 
����������
�
��&
��
� ����
. + 
 ��������
 
� ,���"

 ε̃(η)�

ñ(η) =
ρ

2π2

∞
∫

0

p̃2f(η, p̃)dp̃; ���#$�

ε̃(η) =
ρ

2π2

∞
∫

0

√

m2 + p2p2f(η, p)dp ≈ ρ

2π2

∞
∫

0

p̃3f(η, p̃)dp̃. ���#��

(�"�� 
��)� ����� ��� ������1��
��

ñ(η) = n(η)a3(η); ���#2�

ε̃(η) ≈ ε(η)a4(η); (p/m → ∞), ���#��


	 ������� ������ ����������� ����"� � ������ + ��
�����
����
 � 
����������
�
������ ���&
�����

���� ������	
 ���

������� �
� �
	���� ��

������ �	������
���� �� �	��������

3�����
�� ������� ������ ���
1��
� ������
���
�����"� ��������
� � "������ �����
 ��"��
�������� ����� ����
. ne(t) �����
��� � �������

 �������"� ��������
� 
 �
1� ��� ������1��
���
 ����
. nne(t) +

nne(t) ≪ ne(t) ���#4�

�������� ��������
� ���
1��� �����
�� $�� -�
��� � �������1�� � ,��� ������ �� �
��� ����"��� 
��� �
��.

 �����������
� ���� ���
��)��� �� ����������� � ������
 ����� 	�����
� ,���"

 

�� �����������	�
� ���
�	 � � ��
��������	 ����
���
�




�� ����� ����	
��

������	 ��
���
��� �����
���� �
������ p = p0 ���� T = T0�� ���� 	
�
�


 
���������� �	�����
�
� �
��� �����
 ���������� ��� ����
���� ���� �������


 ��������

fa(p) ≈















f0
a = [exp(−µa+Ea(p)

T )± 1]−1, p < p0;

∆fa(p); f
0
a (p) ≪ ∆fa(p) ≪ 1, p > p0,

���� �


�� µa(t) ! ����"��	�� �
���#����� T (t) ! ����������� ����
����
� 	
��
����� ���$��� %�	��

&��$
�� � 
&����� p > p0 �
��� ��&�'������ ��
�����
 &
���
� �
 ��������' � ����
������
"���
 "����#� �
 ��� ��
� ���
� ���� ����(�� �
 ��������' � �
���� "���
� ����
������ "����#�

)�������� ��
#��� ����	��#�� ������������� fa(p) 	 ����
����
�� f0
a (p)� *���"� � ��	
� �
+

����
�	� ��� "����


 ���"�� ����
��"����


 ������������� f(t = 0, p) �������� ����� � ,��℄�
,.℄� ,/0℄� *���� �� ����� 
&1�� ������� ��
� $���"�� 2�� ��
�� 	�	 &���� ����
 �$ �������+
��

� 	
��
�

�"��	�' ���$�� �
������
 �
��
 ������������� 	�	 ����	
��
������' �����+
�� ! ����
�����' � �������������� f0

a (t, p)� � ������
�����'� ���������	�
�� � ��������������
δfa(t, p) = Ψ(t, p)� ���"�� "���
 "����# � ������
����
� 	
��
����� ���
� �
 ��
��
��� �� ����
���
�

&1� 

�
��� ��
�$�
����� )�������� ����
��� ��
�	�
����� ���4� � 
&�����

p ≥ p0 ≫ T. ����5�

breaking of scale

f  (t,p)
0

f(t,p)

�f(t,p)

p0

f(p)

p
0

Area of thermodynamic equilibrium

Unitary limit

���� �� ���������	
�� ���
������� ��
������� ���
��� ��	���������� �� �������	���

6��������� ����������� ���� � � ��
� 
&����� �
��
 �����&��"� ��
�	�
������� ���������
+
��� "����# ����� �
&
�� 

����"������ �"��
� ��������� ���������
��� "����# �� ����
�������
2
��
�� � ����
���� ��
�	�
����� $��"���� 
��


 �$ �������
�� p′ = p − ∆� ��&
 q′ = q + ∆
�
���
 ������ � ����
�
� 
&������ ��
�


 ! � ���������
�
�� $� ��������� ������
�� 6�� ��
�

&����� �
�����
�����
� $��"���� ����
���� ��
�	�
����� "��$��"���
 ���
� 6��������� ��




&��
��������� ��
��� "���
� � ��
����� �	
&	�� ���4� �
��
 �����&��"�� ��	 	�	 
� �
���
	
�	����
���� � ������ ���� � ������
��"��	� ����� 
&������ �$������� ���������� x � ϕ�
x(1 − x) � T/p → 0� 7�������"��	�� ��	�
�� ���� [1 ± fa(p

′)] � ����
� "���� ����
���� ���4�
�

�� $�����
 
���"����� 
� �����#� 
����+��	� ���� � 
&����� ����
��� $��"���� �������
��
6 ��$������� � ���������
� ���� 
&����� $��"���� �������
� ����
��� ��
�	�
����� ���4� �
��

$������� � ���� ,/0℄�

Jab↔cd(p)|p≥p0
=

(2Sb + 1)∆fa(p)

(2π)3p

∞
∫

0

qf0
b (q)dq

√

m2
b + q2

2p(q4+q)
∫

2p(q4−q)

ds

16π

1
∫

0

dx|F (x, s)|2. ����8�



��������	��
����� �	
��
���� 
 ���������� ��������� ������������ ��

������	
� 	�
�� ���
�
�
��
 ������� �
�
��� ����
���� ������ ���
��� �	 �������

Jab↔cd(p)|p≥p0
=

(2Sb + 1)∆fa(p)

(2π)3p

∞
∫

0

qf0
b (q)dq

√

m2
b + q2

2p(q4+q)
∫

2p(q4−q)

σtots(s)ds. ������

���� �!���� ��"��
#� !� !�
 �
���$ �� 
���� !%��&
��
 ��� σtot ! ����
 ()*� ������� ���!���
�� 
�����!���
 � ����������
�"�$  ����� �+ � �
����
� ���
�
���
 !%��&
��
 �� !�
� "���,
��� �
�"#�$� ��$�
� �"���� 
�����

Ja(p)|p≥p0
= −∆fa(p)

∑

b

4(2Sb + 1)νab
π

∞
∫

0

q2f0
b (q)

√

m2
b + q2

dq

L(s̄)
, ������

��


s̄ =
1

2
pq4,

νab - ����� "�����! �
�"#�$� ! "� ��%. ��&
 
��� !�!� � ��� �#� ��� � a�
/%������ 	���
��� �� 
����� ������ ! ��
�
���%. ��
���.�

���� �����	
�� 
�� ���
��	�
�� ����
���	�

/%��0
� !%��&
��� ��� ��"���"����
�"�. ��� ��� 
$ � ���� 
���� ��!��!
��%. �����
�
�
,

��$ f0
a (p) ������� �������

0
n� � 1�
�����

0
ε� / ��
��
 ��	� 2
	�����!%. ��� �# �µ = 0� ���
��� �����

������
�� 3��℄��

0
n=

ρ

2π2

∞
∫

0

p2dp

ep/T ± 1
=

ρT 3

π2
gnζ(3); ������

0
ε=

ρ

2π2

∞
∫

0

p3dp

ep/T ± 1
=

ρπ2T 4

30
ge, ������

��
 ρ - ����� �
	�!����%. ������	�#�$ ������� ��� �#% �ρ = 2 - ��� �� ���! � 2
	�����!%.
�
$ ������ ga , � � �� ��
�"�$ ��" ���

gn = ge = 1 567 869: ;<7=>
@:9;

gn = 3/4, ge = 7/8 567 A:7B> ;<7=>
@:9. ����C�

	��" DEF ��� !
 � !

 �
�������� D,F - 2�	����� ζ(x) , ζ 
� � �
�"#�� �������
H
������� ��� ��� � 1�
���� 2
	�����!%. ��� �# ��!���

ε =
∑

a

0
εa= N

π2T 4

15
, ������

��


N =
1

2

[

∑

B

(2S + 1) +
7

8

∑

F

(2S + 1)

]

����I�

, 1��
" �!��
 �����  ���! ��� �# �S - ���� ��� �#%��J �
�����!���
 ��
 �� 2�	���� �8� �
�
������� �A�� ��� !
 � !
���� /!
�
� �����  ���! 2�	���! � �
������!� NB � NF �

NB =
1

2

∑

B

(2S + 1); NF =
1

2

∑

F

(2S + 1). ������

K�����

N = NB +
7

8
NF . ����L�

�� ������� 	�
���� ��
�	�
������� ���
 ����� N ∼ 100 ÷ 200�



�� ����� ����	
��

��� ���� 	
�
���
�
����
� ����
��

0
na≈ δ

0
nγ= δ

2T 3

π2
ζ(3), εa ≈ mana, ������

��

0
nγ � ����	���� �
��� �
�
������ ����	��!

δ ∼ 10−10. ����"�

#�
�$
� ��%
�
��! ��� ���%�&	�� ��	��
�
��	�� ��
�	�� ��	�
	����
� ����
� 	
'��
�		�( ��
)
���� �
%	�( %��
�

! δnb! ��
 

 ����	���
 ������� �*+ �� ��
�
�
���( ����	���
! ρc ≈ 0.9·10−29

,-
/3! 
 �&
��
%�( %
	
%���	�( %���
 ����
� ������� *" 012 
3
 %
	�4
 1/δ 
 ��������
� ��)
����� 0.5 · 10−11�

���� ������	
� 	� 	�����

�
�
��
� ���

���

5��
 ���	��
�	�
 ����
�� ����� b 	
�
���
�
����

! ��
�! q ≪ mb! �� 
	�
���� ����6� ����
��� �
����&
	
7�

Ja(p)|p≥p0
= −32π2∆fa(p)

∑

b

n0
b(t)

mb

νab

1 + ln2 pmb/2
, (mb > T ). ����6�

���� ������	
� 	� ���
������

�
�
��
� ���

���

5��
 ���	��
�	�
 ����
�� ����� b ����7��� $������
���
�
����
%
! ��
�! mb ≪ T ! ��
�
% 
�
�
%
�
��
( ���
	�
�� %��! � µb ≪ T ! �� ���
���� 
	�
���� ����6� ��	��
�
��	� ���	��
�	���
�����
�
�
	
� ���68�! 	�(�
%�

Ja(p)|p≥p0
= −4π

3

ÑT 2(t)

1 + ln2 Tp/2
∆fa(p), (mb ≪ T, µb ≪ T ), ������

��


Ñ=
1

2

[

∑

B

(2S + 1)+
1

2

∑

F

(2S + 1)

]

= NB +
1

2
NF ;

NB � �
��� ������ ���	��
�	�� '���	��! F � �
�%
�	���

9��
���� ��	�4
	

 ������� � 
	�
���� �����	��
	
( 	
�
���
�
����
� 
 $������
���
�
��)
��
� ���	��
�	�� ����
�! ���$�
%�

Jnon
Jultra

∼ 24πn0
b

mbT 2
= ζ(3)δ

64T (t)

πmb
∼ 10−9 T

mb
, ������

) ��	�4
	

 ������� %��� ��
 T ≪ 109mb 
 $%
	�4�
��� �� ��
%
	
%� :�;��%$ � ����	
(4
%
������% 	
�
���
�
����
� ����
� � 
	�
���� �����	��
	
( '$�
% ��
	
'�
�����

�� �������	
� 
 ����	
� ��
�	�	
� �	�����
�
	�


:�����
% �����$7 ��%����������		$7 %��
%��
�
��$7 %��
�� ������	���
	
� �
������� ���)
	��
�
� � ���4
��73
(�� 9�
�
		�( � $����
�� ���'��� 	��$4
	
� ���	��
�
� � �%���
 %�����

�
��� 	
���	��
�	�� ����
� �� ����	
	
7 � �
���% ���	��
�	�� ����
� ���6<�� =�%
�
%! ��� ��

;��% ;	
��
�! ����7�
		�� � 	
���	��
�	�% ������;	
��
�
�
���% >�����
? �����
�
�
	
�!
∆fa(t, p)! %�&
� '��� '���4�( 
 ��&
 �	��
�
��	� ��
��4��� ;	
��
7 ���	��
�	�( ��%��	
	)
�� ���%����
�
���( ����%�� 9��
4
% �	����� ��	��	�
 ����	�4
	
�! ���
�
��73
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 ���������� ��������� ������������ ��

���� �����	 
���
��

��� ���	
��
 �
��� ������	�� ���℄�� �����	��� �����	��� � 
����	 ��
��
��
� 
 �
�
 �
� �

!
�
�
"��	
�
� �
 	�� 
 ���	�
� ��	#�	��
� �������
� 
�
 ��
� � 
�
�	�	  ��# 
$%��
�	��%#
 ���	�	�'���(�%# �����	��� �	��
"
 �
�� ��)

ȧ2

a2
=

8π

3
ε; �*�+�

ε̇+ 3
ȧ

a
(ε+ p(ε)) = 0. �*���

,��		)
ε = εp + εs; p = pp + ps, �*���

" 	 εp, pp - ��
��

�( .�	�"�� �  ���	��	 �

�
�
"��	
�
� �����%� εs, ps - ��
��

�( .�	�"�� �
 ���	��	 �
	�
��
/�%# ��� ��	����(�%# �
�	�� �
��
/�
� 
������%#� ����
 �0�# � �
�
�	��1
2
	�	��
��
�����������	 
����	��	 
�	�	����

Ω =
aä

ȧ2
�*�*�


�����
 
 ���	������� ��������	���� ��������� ���	���� κ ≡ p/ε� 


��
�	��	�)

Ω = −1

2
(1 + 3κ). �*���

3���� 
$���
�� �� 
�� �� �
�
�	��� �t > t1�)

0 < Ω < 1,⇒ −1 < κ < −1

3
. �*�4�

,
 .�
"
 �
�	��� κ ∈ [1/3,−1/3]� 5
"��
�
 �*�+� - �*��� ��
���$�%� ����
� � 
�������� ��
�!
�

�( .�	�"�� ��� �������� ���������� ��������	��	 ��������� �	��1�
� �
 ���
��)

a = a1t
2/3(κ+1); ε =

1

6π(κ + 1)2t2
, κ + 1 	= 0 �*�6�

7
�
�(��� 
���( �*���� �	�	���	� 


��
�	��� �*�6� � $
�		 � 
$�
�  �� ��
 �� 	)

a = a1t
1/(1−Ω); ε =

3

8π(1− Ω)2t2
, Ω < 1. �*�8�

9��	���� ��
 ��� �1$%# ����	���# ����������
"
 �
�
�	��� Ω = Const ∈ [−1, 1) ��
��

�(
.�	�"�� ��
�
�'�
���(�� t−2�

���� �������� �
����������� 
�����

:���	� 
�	 �10�	 ��	 �
�
/	��� � ���	� �
 	��)
1o� 5�	����"
�%� #�����	� �����
 	�
���� .�	�	�����%# ��
��' � 
$��
�� 
�	�#�%

��# .�	�!
"�� � �������'�� �
	# �	/��
����%# �����
 	�
���� �� 

�
�	 ��� ��	����(�%# �

�
���%#
G, �, c ��� .�	�"��# �%�	 �������
"
 ��	 	��� ��
 ����
 �� � �
����	 ����	�
��(�
"
 �
����
!
���	
�
"
 
	�	��� ��

	���� ���+��;
2o� ������������� ����� �
����	�������� �����������	���� ���	� � ����������	���� �����

���� ��
 ���
�����	
�� 
�����	�� ��
 ���
� 

#���	��� .�	�"�� �*�8� �%�
���	�
� �
 
� 	�(�

��
 �� ��� ��	����(�%# �
�	� � �����%)

ε̇s + 3
ȧ

a
(εs + ps(εs)) = 0, �*���

ε̇p + 3
ȧ

a
(εp + pp(εp)) = 0. �*�+<�

3o�  ������	�����������	 
����	��	 ��������� ����������	���� ������ �� ��

�������	�
�

�� �� ��
���	���)

pp =
1

3
εp, (4.10) ⇒ εpa

4 = Const. �*�++�

4o�  ������	�����������	 ������ 
�	�	����)

lim
t→0

κ =
1

3
. �*�+��
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 ��
	����  �� ��!�
� �!��
	���� !���	
	
��"
����������� ��������� �
�
	�� ��
 �
�	�� #��
 ����	�
�
 
���	�� � 	
#��
� $�℄� $&�℄� '�
�� ��
�#�#��� � �
�
����	!
� 	
�!���
�� ���� �
�	�� �
 ��!�
� �	����������� �!��
	���� !	
��
���
��������� �
�
	��� (� )��*�+ � !�
��� )��**+ �	
�! ��
�!
�,

εpa
4 ≡ ε̃p = Const, )��*-+

��
 ε̃p . �����	��
� ��������� ��
	��� ����������
���� ��
���� ��	
�
��� ��! �����
��!� ��"
�
�
� ����
��� )��/+ �
 �
�
����� !���	
	
������������ ��
��� 	
�0�	
���,

a(t)|t→0 =
√
t. )��*�+

1���
 ��� �����	���� ��������� ��
	��� ��
��� ���!���� �	
����
�
�� ��� ����������
��
�
��
��
 ����
��� 
������
���� !���	
	
������������ ������
����� �
�
	��� .

ε̃p =
3

32π
. )��*2+

3�
�
� �
�

 �
��
	
�!	! T0(t) ����������
���� ��
��� � ��

����� 3�
�
����� � ����	�� �

�
���� ���
�� ����������
����� �	
�
�� t ��� ��
��
 ����
��� ���
���� 	
����
����� 1
���
�#	
���� ��������� ��
	��� ���� ��
��� ������

��� ��	�!��� )-�&2+ � N = N0 4 ���
�������
������ ����� 	
����
���� �
���5 � ��
��
 � �
��
	
�!	�� T0� �����
 � !�
��� )��*2+ ���!���
�
��� �����5�� �
��
	
�!	� ��
��� � 	
����
���� 3�
�
����,

T0(t) =
1

a(t)

(

45

32π3N0

)
1
4

. )��*6+

�������
���� �
������ N0 . ���������
	
 ��
�� ���
� ��
���� �
��������� � �
	�����
���
"
���� 	
����
���� �� #!�
� ���
�
��� ���N0(t) 4 �
��
��� �
����
��� �!��5�� ����������
�����
�	
�
��,

Ṅ0t ≪ 1. )��*7+

8!��� �
�
	� T (t) 4 ������
� �
��
	
�!	
 	
����
���� ������
��� ����������
���� ��
���� 

∆fa(p, t) 4 �!��5�� 	
��	
�
�
��� 9a: "�� ��	�
 �
	
����
���� �
���5 ��
���� ;
��
� ���������
��
	��� 	
����
����� εe� � �
	
����
����� εne� ������
��,

εe =
Nπ2

15
T 4(t); )��*/+

εne =
1

2π2

∑

a
(2S + 1)

∞
∫

0

p3∆fa(p, t)dp, )��*<+

��
 S 4 ���� �
���5= N(t) 4 ���
������
 ����� ����� 	
����
���� �
���5 � ��
��
 � �
��
	
�!	��
T (t)� 3�	
>
� �
�

 � ������� )��*6+ �
�0�
#��� �
���	 �
	
� �
��
	
�!	! T0(t) � ����� ���!�
������������ �����	��!� ���!����!� �
	
�
��!� p̃,


p =

(

45

32π3

)
1
4

· p̃

a(t)
= T0(t)N

1
4
0 p̃, )��&�+

���!��� ��� )��*<+,

ε̃ne =
45

64π5

∑

a

(2S + 1)

∞
∫

0

p̃3∆fa(p̃, t)dp̃. )��&*+

 
�

� �� )��*6+ � )��*/+ ���!��� ��� �����	���� ��������� ��
	��� 	
����
���� ������
���
��
���,

ε̃e =
3

32π
y4, )��&&+

�� ������� �� ��	
���
�� 	�����

��� p� �����
�� ����
������� ������� �������� � p�



��������	��
����� �	
��
���� 
 ���������� ��������� ������������ ��

��� ������� 	�
��
�����
 ������
� y(t) � �����������	
 �����
	��
	 ���℄�

y(t) =
T (t)

T0(t)
� 1. ������

�
 ������ �� �� !�"�#�$% &��$��'�����

σ(t) ≡ y4(t) ≡ εe
εp

≡ ε̃e
ε̃e + ε̃ne

. ������

(���� �	��
��� 
���� &�)������
 *������ ��&��"���#�&��+ !"�
�, ����-� & !���.%/ &��$��0
'���+ ����1� � ������ �� �� !���!�&�$% � �����

y4 +
15

2π4

∑

a

(2S + 1)

∞
∫

0

p̃3∆fa(p̃, t)dp̃ = 1. ����-�

2��$��'���� ����-� � ��
,���$&
 �
	������� ���
���	�	��	 ��	���� 3�� !�"�#��� ���� !�� �&0
!�"%
������ $��) !���!�"� ���+ ����"� 4 2o� 3o� 4o� 5���$��� #$� � !���,��.�) &$�$%
) ��$���
*$� �&������ &��$��'���� ��$���$�#�&��+ ����"� ��&&$����"���
 $����������#�&���� �������0
&�
 �,����"�&% !�� 	�"�� #�&$�,) !���!�"� ���
)� 6�� 
������+ 
���&���&$� ������� ��&!��0
��"���
 ���������&�,) #�&$�� �$ $��!���$��, �������&��+ ���!����$, !"�
�, � ��&��"���#�0
&���� ������� ��������� *�����	�"��&� &$�����$&
 ��"���+�,� ��$����"%�,� ���������� �$��0
&�$�"%�� $��!���$��, �������&��+ ���!����$,� 2"�����$�"%��� �"
 !�"�#���
 *$��� ��������

� 
���+ ����� ���	)����� ��'�$% ����$�#�&��� ��������� �"
 ���������&�,) #�&$���

�� ��������	
�� �
������� ��� ��
������	��� ��	���

���� ������� 	���
����	
�
 ���������

7�������� *�����	�"��&� ����-�� � &��/ �#����%� �!����"
�$&
 ��'����� ����$�#�&���� ��������

�$��&�$�"%���� ���������&���� ��&!����"���

∆f(t, p)� �&!�"%
�
 
��&% &��$��'���� ������� !������� ����$�#�&��� ��������� �"
 &���)$�!"�0
�,) #�&$�� ���8� & ��$����"�� &$�"�������+ ������ � �����

∂∆fa
∂t

= − 8πN

3p̃L(12 p̃ T0TN1/4)

(

2π3

45

)1/4

T 2(t)a(t)∆fa. �-���

��'�
 �-���� !�"�#���

∆fa(t, p̃) = ∆f0
a (p̃) exp



−8π

3p̃

(

2π3

45

)1/4 t
∫

0

NaT 2dt

L(12 p̃ T0TN
1/4
0 )



 , �-���

���
∆f0

a (p̃) ≡ ∆fa(0, p̃). �-���

���� �����
� 	 ������������ �
����
������ ����������

:����� �
����� �����
���� ���
��� ��
	��������� ���������� ����
	
��
���������� �	�

���� � �	�	����� ������ �
������〈p̃〉0� �

〈p̃〉0 =
ε̃(0)

ñ(0)
≡

∑

a
(2S + 1)

∞
∫

0

∆f0
a (p̃)p̃

3dp̃

∑

a
(2S + 1)

∞
∫

0

∆f0
a (p̃)p̃

2dp̃

�-���



�� ����� ����	
��

� �����������	 �
����
�����	 ��
������	 
��������	� ρ� �

ρ ≡ p̃

〈p̃〉0
, ����	


�� 

�

〈ρ〉0 =
ε̃(0)

〈p̃〉0ñ(0)
≡ 1 ⇒ 〈ρ〉0 =

∑

a
(2S + 1)

∞
∫

0

∆f0
a (ρ)ρ

3dρ

∑

a
(2S + 1)

∞
∫

0

∆f0
a (ρ)ρ

2dρ

= 1. ����	

�������� ��
���
�
����� ������ ������������� ������ ������� ������� 
��
� � �������
��!"
��� ������������� ������������� ���#�� $�
! $��!%� � ��#� ���
�
��!�� $��!%� 
�������
������� 
��
� � 
���� �$����� �������� ����&	� ����	 � ������
�������� ��%�� ������'

〈p̃〉0 ≫ 1. ���(	

)��
�
���� ����
��� 〈p̃〉0 �����
�� ����������� 
�������
� ������
�������� ����! ������� *
����
����� ����� �
��� $������������ ������
�� � �
��%���� ������� ������� 
��
� �����"
��
��!���� �������������� ������������� � 
������
,�� ������ � ����������� -�������� � ��"

��!��� �����
 �������
�� - �
��
�� �
 ���������� ���,�!���� ���������� p̃ ������� ���
����
$����������� ���������� ���,�!���� ���������� ρ � ��
��!��� ������������� 
�#���
�����
����� 1�

.���$���,�� ����#���� � ��������
� ����	� ����/��� � $����������� ���������� y, ρ� 0
�
�"
��� ���$,1 ���������
! ���������
������ ���
��� L �
 ����/ ���,���
��� � 
��#� ,$���12��
/����
�� �����
�����!��� �,�� �� � ����	� ������ ����,12,1 � ���, ���������
������ ���"

���'

L

(

1

2
p̃ T0TN

1/4
0

)

≃ L(〈p̃〉0T 2
0 ) ≡ L0(t). ���3	

4���� �$������ � ���������
����� 
�
���
!1 �����
���� ��%���� ����	 � ������
��� �����'

∆fa(t, ρ) = ∆f0
a (ρ) exp



−2

ρ

t
∫

0

ξ
y2

a
dt



 , ���5	

��� ������� �$����
����'

ξ ≡ ξ(t) =

(

5π

18

)1/4
N

〈p̃〉0N1/2
0 L0(t)

≈ 0.967
N

〈p̃〉0N1/2
0 L0(t)

≈ N

〈p̃〉0N1/2
0 L0(t)

. ������

��	
� �
�
�� �	��� �����������	 
�������	 ���������	� τ � �

τ = 2

t
∫

0

ξ

a
dt , ������

������ ��	�
dτ

dt
≡ 2

ξ

a
> 0, ������

� �	��� �����������	 ���
��	� Z(τ)� �

Z(τ) =

τ
∫

0

y2(τ)dτ, ������

����


� �
�
��
 ���
���
��	 	 �����
��� ���!� � ��
��

∆fa(τ, ρ) = ∆f0
a (ρ) · e

−− Z(τ)

ρ . ����"�

������ ��� ��	�
��� �
��� ���� ����
��
����� �
 �� 
��
����� �
��
�
�



��������	��
����� �	
��
���� 
 ���������� ��������� ������������ ��

��������	 ��������� ��	
� 
��

� ������	����� ���	����� ����	����� τ � ���	����������	
���	���	 t� ������� � 
��

� ��������� ������	��� 	��!������� ������� a(t) �� ���	�������#
����� ���	��� � �����	�� �� ���	���� ������ ������	��� �� ���	��� ������� ξ$ ������	%

a ∼ tα →
{

t1−α, α 	= 1, 0;
τ ∼ ln t, α = 1.


��
��

&����� �������$ ��� ��� α � 1 → τ(∞) = ∞$ � ��� α < 1 → τ(∞) = τ∞ < ∞� '��������
������!���� 
��
�� � ������!����	� 
���� ( 
��)�$ ���*���	 � ������+�	� ��,��	� �-����%

κ � − 1
3 (Ω � 0) ⇒ τ(∞) = +∞;

κ < − 1
3 (Ω > 0) ⇒ τ(∞) = τ∞ < +∞.


��
.�

������ �� ����/�� ������������� ������������� ��	������- ���	����������� ����	- 
��
�� ��#
����� �� ���	��� ��! ����������	 ����
���� ��
���
����� ������� ������	����� ���	�����
����	����� Z(τ)$ �� ������!���� 
��
.� ��������$ ��� � �� ����������������� ���	�����������
����	� �� 0�������� � ����/���� �-	 ���������	 ���	���������� ����������� ������ ���	���#
��	������� ����������$ ����� ��� � �����	�����	 ��������� 
���������������� ���������� ���

����� �
���� �� ���
����
�	�

���� ������	�
� �
������� ������� ���
��������� ��	�������

���������� ��!���� ������������� ��������� � ���	� 
��
�� � �-��,���� ��� ������	��� ����#
����� 1������ �����������-* �����/$ ������	

ε̃ne =
45

64π5

∑

a

(2S + 1)

∞
∫

0

p̃3∆f0
a (ρ)e

−
Z(τ)

ρ . 
��
2�

���������	 ��,���������� �������������� � 1��	 �-��,����	$ ����-��� ��� �������� ��������#
��� 
��3�� � ��������� 1������������ 
��3��%

ε̃0ne = (1− σ0)
3

32π
: 
��
)�

ε̃ne ≡
ε̃ne
ε̃0ne

ε̃0ne = (1− σ0)Φ(Z)
3

32π
, 
��
4�

��� 	- � �����	 �������������� � ������	����� �	��� ���� ����	����� ρ 
���� ����� ����� ��
�

��
������ ������� Φ(Z)%

Φ(Z) ≡

∑

a
(2S + 1)

∞
∫

0

dρρ3∆f0
a (ρ)e

−− Z(τ)

ρ

∑

a
(2S + 1)

∞
∫

0

dρρ3∆f0
a (ρ)

. 
��35�

���� ������� � ���
����
��� ��
������ �������


��


0��������� ����������� 
��
�� ����/�� Z(τ) ������������� ������+�	 �������	%

Z ′(τ) = y2(τ) ⇒ Z ′ 2 = σ(τ); 
��3
�

Z(0) = 0; Z ′(0) = y2(0) =
√
σ0, 
��33�

���

Z ′ ≡ dZ

dτ
> 0. 
��3��

6���	 ������	$ � �����	 
��
4� ( 
��3
� ��������� 1������������ 
��3�� 	�,�� ��������� �
���� ��������/��� ���� ��������� ��������� �� ����/�� Z(τ)%

y4 + (1− σ0)Φ(Z) = 1 ⇒ Z ′2 + (1− σ0)Φ(Z) = 1, 
��3��



�� ����� ����	
��

����� ��	���� 
 ���	�
 
��	������� ������ � ������� �����
 ���
������ ������� � ������
 �����

Z
∫

0

du
√

1− (1− σ0)Φ(u)
= τ. ������

�� ��
�� �!��������" ����#� ����$�� Φ(Z) ���	��$�	������

Φ(Z) > 0, (Z ∈ [0,+∞)), ����%�

!����

Φ(0) = 1; lim

Z→+∞
Φ(Z) = 0. ����&�

'(��
��� !����" � �	���" !���)�����" !� Z �	 ����$�� Φ(Z)� ��������$���� 
��	�������
����#� !� Z� !�����
�

Φ(Z)′Z < 0, (Z ∈ [0,+∞)); ����*�

Φ(Z)′′ > 0, (Z ∈ [0,+∞)). ����+�

'
���
	��� ����*� ����$�� Φ(Z) �����	
� 
	�� � 
���	���� �,(��"-��� �� 	� �� �
���
	���

��	������� ����&� .	� ����$�� � �������� �� ��	�������

Φ(Z) ∈ [0, 1]; (Z ∈ [0,+∞)), ����#�

!����
  ����� ����$�� Φ(Z) �� ��	(�� '
���
	��� .	�/ 
���
	� ����$�� Φ(Z) ���������Φ(Z) =
Φ0 �� ��


�	�����
�
 ��	������ )������� �
� �� �
��	 ���� � 	����� ���� ������� Z = Z0� 	����
���������	� Y = Φ(Z) �� 
�������� �����	
�������� �	��� �������� �	���	���
�

0����� �) 
��	������� ����1� 
�����	� �	� ����$�� Z(τ) �����	
� 
���	���� ��)��
	�"-�� ��
��	������ τ ∈ [0, τ∞]� 0�������$���� 
��	������� ������ !� τ ��� 
��2��" ����$�"� !�����
�

Z ′[2Z ′′ + (1 − σ0)Φ
′
Z ] = 0. ����1�

3	
"�� �
���
	��� !���2�	�����
	� Z ′ ������ �����
 �	���" !���)�����"�

Z ′′ = −1

2
(1 − σ0)Φ

′
Z . ������

4�.	�
� �
���
	��� ����*� � ������ � ������ !�����
 �) �������

Z ′′ > 0, ������

	����  ����� ����$�� Z(τ) 	��2� �����	
� �� ��	(
� 0����� ��������$���� �56����� !�����
 

���	�
 �������

y′ > 0, ������

7 	��� ����$�� y(τ) �� �
�
	� 
 ��� � ����$�� σ(τ)� �����	
� 
���	���� ��)��
	�"-��� � ��� ��

	����(� ��� � �������� 
��)� �������(
 )�������
 y0 �σ0�� � 
���/� � )�������
 1�

y′ > 0, y ∈ [y0, 1); σ′ > 0, σ ∈ [σ0, 1). ������

4�����
����(� 
���
	�� ����$�� y(τ)� Z(τ) � Φ(Z) �,�
!�����"	 ,���	����
	� $�!���� �	�,8
��2���� τ ↔ y� y ↔ Z� Z ↔ Φ� ' �	� �� ��2��
� )������" Φ 
��	��	
	���	 ���� � 	����� ����
)������� Z � ���� � 	����� ���� )������� τ � τ ↔ Φ� 0�� )�
(����� .	�� $�!���� ��
	�	����
�!������	� 
��)� ����$�� y(τ) � Z(τ) 
 !�
�-�" ��������� .��� �,����
� �������

y = [1− (1− σ0)Φ(Z)]1/4. ����%�

9�������� ������ � ����%� �������� ����
���	����	
 �����	�
 �������	� �������������

������� � �(��!�����
����(� 
���
	�� ����$�� Φ(Z) � Z(τ) �,�
!�����"	 ��	����������� ��� ���
���	�� �� ��
�� ����#� ����$�� Φ(Z) !����
	�" �!�������	
� �������(
 ��
!���������
 �����8
����
�(/ ��
	�$ ∆f0

a (ρ)� 4�.	�
� 
 
�	�
�	���
��� 	���� )����� )����� � ��

	��������� 	��
�8
����
���
�� � �������
�� �� '
������� 
 !���)�����(
 �
�������
 !����
	�" ������� :�����	8
�(� 
����� �!������"	
� 
�����" 	�
��� 
�	���� � 
�����" !������������ � ���������
�� �
��
!��������� ��
	�$�
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���� 
 ���������� ��������� ������������ ��

�������	�	
����	
 �	�	�� ����
��	
�	 ������ �� τ � ���	
 ����� ������ 
	��� ��
����
�
y(τ) � Z(τ)�

Z ′′′ = −1

2
(1− σ0)Φ

′′
ZZZ

′ ⇒ y′′y = −y′2 − 1

4
(1− σ0)Φ

′′
ZZy

2. ���� �

!"��
 �#�"��
$ ��%	�����	 ����&��
y′′ < 0, ����'�

( ��	�$ )�"��� ��
���� y(τ)$ " �
	��	 � 
�
 � σ(τ)$ ��%�	��� �*���%*
� +"%		$ �����%��� ΦZ(Z →
∞) = 0$ �� ������ �%	��	��

lim
τ→∞

y′(τ) = 0 ⇒ lim
τ→∞

σ′(τ) = 0, ����&�

( ��	�$ �
"�	
�	 σ = 1 �����)"	��� "��
������	��� ��� τ → ∞� ,�� �����%�	� 
"�����"�� �"-
�	���	

*. )�"��� ��
���� y(τ) �/01234 ��� 5�
	�
���� #	��"�
	�
�)� ��	
	
� τ∞ �������� �
���"
��%	
�6 ��	�	%�
�)� �
"�	
�� ��
���� y(τ)�

y(τ∞) = y∞ < 1 ⇒ lim
t→∞

y(t) = y∞ < 1. ����7�

8�%	�����	 9��)� �"��� 9
	�)�� ���
�%�)��	���. �%"�
* 
"��	)�" ��
�	�����	��� � 
	�"�
��	�
�.
��	�:�	�%���. ��
��
	
�	�

lim
t→∞

εne(t)

εp(t)
= 1− σ∞ =

{

= 0, τ∞ = ∞
> 0, τ∞ < ∞ . ������

;�)%"�
� ����<� 9�� ���
��
� %��� �%� �����	

� �"�����6=	.�� 8�	%	

�.�

���� �� ����������	
 ��� 
������ ������� y(τ )�

�� ��	
�� 
����� �������� � �������������������� ������ 
� �
������

��

�"��
����
 �%	��6=�6 ������6 
��	%� 
"�	���$ ������=	. �� ���: ��
��
	
� ? 
�
�
"%�
�
����"

�)� 
"����
�)� ��"%��
�)� ��%� ����
�%�)��	���. �%	
� � ��"�
	
�	
 ������
���

ps = −εs, �<���

� �%���"�	%����������. �%"�
* � ��"�
	
�	
 ������
�� ������� !�)�" ��

"�
*. ��9�����	
�
#"������* � �
�"��"
�
�	 �����	
�	 
��
� �"���"�� � ���	�

κ(t) =
1

3

1− 3δ

1 + δ
; Ω(t) = −1− δ

1 + δ
, �<���

)�	

δ = δ(t) =
εs
εp

. �<���



�� ����� ����	
��

����� �	
����� 

� δ = Const ��
���� ����� ����� ��
����� � ��������� ���	��� ����  !"℄$

a = a1t
(1+δ)/2; ε =

3

32π

(1 + δ)2

t2
, Ω < 1. �����

%����� ��&
�����' (��
)�� ���*� + ���,"� 

������� ���$

εs = Const =
3Λ2

8π
; ���-�

εpa
4 ≡ ε̃p = Const ≃ 3

32π
. �����

.�������'' ���-�/����� � �
������� ���,� � ����)
�
�' �)�� 
���0��$

a(t) =
1√
2

[(

t0 +
√

t20 + b2
)

e(t−t0)/2Λ− b2

t0 +
√

t20 + b2
e−(t−t0)/2Λ

]
1
2

, �����

)��$

b2 =
3

32πΛ2
. ���1�

2 0��������� 

� t0 = 0 ��' ���3��	��)� �����
� ����� ������$

a(t) =
1

Λ

√

3

32π
sh

t

2Λ
���*�

2�0���'' ��)����� ���!�� ���-�� ����� � ���*� ����3���� δ� ��4���$

δ(t) =

(

3

16πΛ
sh

t

2Λ

)2

. ���,"�

5����� ��)����� ���!� ����� ��0������ (���������4 ��(���6���� 	�
��
�
� � ����
�������
����
���� ���� ���� ���

8�������4 
������ 
���������� 0�� � 
������ 
�
����
� Λ ����� ��)�� �

���'�� �
������

�
�&��� �� ����'6�����4 
���� ����
���' κ → −1� 9�
������ 0�� �������)�0����� �
��' t
����
'���' � 
���������& �����6�&�

����� �	
����� ��)����� �-�,,� �

������ ����� 	��
����
��� �
������� 
�
�������� τ $

τ =
2Λ〈ξ〉
〈p̃〉0

F(ϕ, 1/
√
2), ���,,�

)��$

ϕ = arccos
1− sh t/2Λ

1 + sh t/2Λ
; ���,:�

F(ϕ, k) + (���
��0����4 ����)
�� 
�
��)� 
���$

F(ϕ, k) =

ϕ
∫

0

dα
√

1− k2 sin2 α
; (k2 < 1). ���,!�

����� �	
����$
dτ

dt
=

1

2Λ

1

sh ϕ

ch ϕ

1 + sh ϕ
> 0; τ ∈ [0, τ∞), ���,��

)��



τ∞ = lim
t→+∞

τ(t) =
2Λ〈ξ〉
〈p̃〉0

F(1, 1/
√
2). ���,-�

��F (1, 1/
√
2 ≈ 1.083216773�
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 ���������� ��������� ������������ ��

���� �� �������� 	����
������
��	�������
� ����
���� κ(t) �
����� ������ �
��������
���� ��������� Ω(t) ������� ������
�
����
����� 
������ ������� ����� ��� Λ = 1�
 ���
����!� �����!� ����"��� ���!�
�
�

−1; 1/3; 1�

���� �� �������� 	����
������
��	�������
� ����
���� κ(t) �
����
�����

������ ������� ����� � "�����!��
� �


���!����������# ���
�����# Λ ����� $ �������%
Λ = 1& Λ = 10& Λ = 100& Λ = 1000�

�� ���	
���
 ���
	� ���������	
��
 ��� � �����
���� ��
	
����

���� �����	 
����
����	
��� 
����
����
��� ���
������
��

����� �	
����� ��� �
 �������� �
��� �������������� ������ �
������ �������������� ��� �
��������������� ������ �������� � �� � ��
����
�������  
�������� !"#$"% � !"#&'%� ��
�����(
)*�� ��� �������	 ����
�� Φ(Z) ����� ����+

τ = τ(Z) (5.25); !�#,%

y = y(Z) (5.36), !�#$%


��
���� ����

�� �
 ��-�� ��
������� � ����) y(τ) �� ��� ���
�� ��
������ ��������)

����� ���������� ) ����� # ����� �	
����� ������������� 
������ ������ ��/������ � ����
�(
� 
�/ �������� ���������� 
���
�������� ��
��������
/ ������ ∆f0(p) � ������ )*�� ��
���(
������ �����
������ � ����� Φ(Z) !"#$0%# 1������� ��� ��
������ ��
����
�������  
�������
!"#$"% � !"#&'%� ��� � ��
�������� � ����� Φ(Z)� �� ������)��� �� ���������
/� ��� ����
/ 
�(
��� ����
�� � 
�	���/ 2�℄� 2$0℄# 4
����������� ���
� ������� ������
�  ���
����� 5���������
����)������ � ����� τ(t) !"#,,%#

6�� ����
����� ��������� ������ 
������
�� ��
����������� 
���
�������� ���� 	����� � (
��+

∆f0(ρ) =
A

ρ3
χ(ρ0 − ρ), !�#&%

��� A 7 ��
��
������� ����������� ρ0 > 1 7 	��
����
�
� ��
����
� ξ(x) 7 �� �������� � �����
89:;<=<>9� ��� ��� �����
���� ��������� ?��
��� ������������ ?���� 
���
�������� 
����+

ε̃0ne =
〈p̃〉40Aρ0
32π5

. !�#�%

5
������ � ����) Φ(Z) ������������ 
���
�������� !�#&%� ������+

Φ(Z) = e−x − xEi(x); x ≡ Z

ρ0
, !�#"%



�� ����� ����	
��

��� Ei(x) ���� 	
�����
�
�� ��������
�
�� ��
��	�

Ei(x) =

∞
∫

−1

e−tx

t
dt.

���� �����	
�
� 
��������� ��
�����������

������� ���	� �������� ����	��� � �	�
�

��� 	
����	����
	� �	����� ����
�
	� � !""#� � !$ #�
� !%&#! ' ������ ($)℄ ���! ���+� (%,℄# ��	��
� ��������� ��������� � ������ -./01 �	�
�

��� ��2
��
	����
	� 3��� �����	 	 ��������
�
� 
�������� ����
����� �	�
�

��� ����
	����
	� ��	2
��

�� ��4� �������	������ ����
	 ������
��
�
	� ������	
��	������� ���
����	� ������

��
'��
�

��! 5	+� ��������
�
� ��
�� ��

�� ����
����� �	�
�

��� ����
	����
	� 	 	6 �
�
	�!
' ��
�
��4�� � ����������		 � �&! # 	 �&!)# ����
� �����	 ��������� �	
�	�	�
��
��� �	
�	���

���

t0 ≡ 4Λ. �7!&#

5� �	�! 7!7 ��������
�
� ����
����� �	�
�

��� 	
����	����
	� �
� ������
�
	� ���������
τ∞! ' ����
���	� 	
����	����
	� ����
�4�
	� � !""# ��������	
� 
������	��
�
���� ��
	�	
� τ∞
�� ���� ���������� 	� ����	����	� ��������	
� ���
��
�� �����
� �&!" #� ������� 
� ��	����
�
����
�� 
����	��	������ ���	�	����	 ��������� 〈ξ〉 �� �����
	! 5� �	�! 7 ������
� ����
�����
�	�
�

��� 	
����	����
	� 3��� ��
	�	
�!

���� �� ����������	 
�����
���� ���������

������������ ��������� ���������� 〈p̃〉0τ ��
���������
������ ������� t� ����� � ������
t0 = 1� 10� 102� 103� 104� 105� �� 
� �������

N0 = 100� N = 10�

���� �� ����������	 
�����
���� ���������

������������� ���������� ��������� τ∞〈p̃〉0 ��

�����
���� ��������� ���������
�����

���������� t0� ����!��� ����� � 〈p̃〉0 = 10"
��
�� � 〈p̃〉0 = 105� �� 
� N0 = 100� N = 10�

9�	 ����
����� 6���4� ��	�������� �����
��

τ∞ ≈ 2.57t0
〈p̃〉0

. �7!7#

5� �	�! � ������
� ���	�	����� ������

�� :�;# ��	 ���
	�
�6 �
���
	�6 �����

�� �����
��	2
������ ������

��!
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 ���������� ��������� ������������ ��

���� �� ����������	 
��
����
��� �������

Z(t) �� �
������ ����� t0 = 1� N0 = 100� N = 10�
〈p̃〉0 = 10� σ0 � ����� ���
�� ����� ���� ���� ����

���� �� ����������	 �������� 	���

���!�
���
" y(t) �� �
������ ����� t0 = 1�
N0 = 100� N = 10� 〈p̃〉0 = 10� σ0 � ����� ���
��

����� ���� ���� ����

��� ���	
�� �
 ��

�������� ���	���������� �� ���� ���
���� 
������� �
����� Z(t) �����
����� ���	������ 
������� ��� t → ∞�

lim
t→∞

= Z∞ < ∞. �� !"

#�$����� �% &�" ��� �
������� ��� ��� t → ∞ '
������������() ������	������ �������������
�������

∆fa(τ∞, ρ) = ∆f0
a (ρ) · e

−− Z∞

ρ . �� �"

*���� �+��
��� � ����������, -�������, ����� �������( '�����) ������������� ������ �������.
����� ����$�,�

E > E∞ = Z∞〈p̃〉0. �� &/"

0� ��� &/2&& ����
��� ��

������ ��������$� ����$��������( 	�( ������������, �������.
�
�� y(t) = T (t)/T0(t) ≤ 1 #�$����� �����
 ���, �������� +�
��
�����, ���������

e∞ = 1− σ∞ = 1− y4∞ > 0 �� &&"

���� ������������( 	��( ����$�� �������$������, ���
��� ��	����3�(�( � ������������� ������
������	�����( 



�� ����� ����	
��

���� ��� ����������	 ��
������	
�


������������ y(t)� �� �����
�� ����� σ0 = 0.1�

N0 = 100� N = 10� 〈p̃〉0 = 10� t0 � ���������� � !�

!� !�� !�� 

���� ��� ����������	 ��
������	
�


������������ y(t)� �� �����
�� ����� σ0 = 0.01�

N0 = 100� N = 10� 〈p̃〉0 = 1000� t0 � ���������� !�

!�� !��� !��� 

���� �����	
	����
�� �������� ������	�
� ������
����
�
 �������������

�� �������
��
� �	����

��� ����	
���� 
 ��
�������	 ����� ��������� 
���� ������ 
�������� ���
������ ��������

���������
 ����
��
������ ������
�������  �!��� 
��������� ����	
������ ����������� �
"

��	��� ������������� �����������# y∞# ������������� 
��� �������# ��!�	������ 
 ����
��
��"
��� �
���� ������
������# � ��!�� � ����� ����� ������
������� %� ���� '(# ')# '*# '�# '+# ',

���
���
���� 
���������� �������� ���
�� 

�� �!������� ���������
�

���� ��� "#�#$%#$
' �( �)# %*�#$+*�$,#++

(�$
�*�$ Z∞ �$ 
�+��,�-*
., 
�$+�.$� t0� *� *+

#/#0'1)#0# 〈p̃〉0 = 100� N0 = 100� N = 10�

σ0 � ���������� � ��!� � �!� � !� � 2 

���� ��� "#�#$%#$
' �( �)# %*�#$+*�$,#++

(�$
�*�$ Z∞ �$ �.0.�#�#0 〈p̃〉0� *� *+ #/#0'1)#0#

t0 = 1� N0 = 100� N = 10� σ0 � ���������� � ��!�

� �!� � !� � 2 
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 ���������� ��������� ������������ ��

���� ��� ����������	 
��
��	���� ��������

���������	��� ���
�������� y∞� ��

��������������� ��������� t0� ���
� 〈p̃〉0 = 1000�

N0 = 100� N = 10� σ0 � ����� � ������ � ��!� � �!�

� !� � " 

���� ��� ����������	 
��
��	���� ��������

���������	��� ���
�������� y∞� �� 
����������

��������� 
�������� 〈p̃〉0� ���
� σ0 = 0.01�

N0 = 100� N = 10� t0 � ����� � ������ � !� !� !� 

���� �����	 
�	��
����� ���������� ������
������

�� ����	
��
����� ����
�
�
�� 	
����
� �
� ������� 	� �������� ��
����� ������
�� 〈p̃〉0 ���

����� 10 ÷ 100	 
����
�� 
�
�
���� ����
��
����� �������
�� ������ 
 ��
�������� �����

�
������ ���������� ��� � ��������� ��� ����	 ��� ��� ��"����� ����� ����� #���� ������ ����

��� $
����	 
 ������� ���������
���� ����������� �������"������� ��������	 ��������%��

������������ ������	 
 ��
�������� ����� ��"�� 
�
�� ��� �� �������
�� ������� � �����

"��� 1012&'( � 
�)�� � ���������
����� ���� �������� �� ��
�������� ������������ ������

��"�� 
�
�
�� �������
�� ������� � ����"��� ������� * +'( � 
�)�,

���� ��� ����������	 ��
������	
�
 ����

�
����� 
����
����
�� ������� 1− σ∞� ��

��������������
 ��
���
�� t0� ����� 〈p̃〉0 = 1000�

N0 = 100� N = 10� σ0 � ��������
��� � ��!� � �!�

� !� � " 

���� ��� ����������	 ��
������	
�
 ����

�
����� 
����
����
�� ������� 1− σ∞� ��

#�������� 〈p̃〉0� ����� σ0 = 0.01� N0 = 100�

N = 10� 〈p̃〉0 = 1000� t0 � ������ $ �
��� � !� !� !� 
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�� �������� �����
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��� ��������� ��
���� �
������
���� ������ �
��
������
��� �� ���������� �����
�
�
��� � ����
 ����  
���� !"��

(

dε

dρ

)

0

= A
χ(ρ0 − ρ)

(1 + ρ/〈p̃〉0)3
. #$�	�%

���� ��� �������� 	
��	
�
�
��� ���������

��
	���� ����� σ0 = 0.5� N0 = 100� N = 10�
〈p̃〉0 = 10� t0 = 1� ��
	�� ����� �� ������� ����� ����

�� ��� ���� �� !" #� ���� # $ ����� #%! 
'� 
�$!�

���� ��� (�)�
��� �
	
����
���* ���)���

	
��	
�
�
��� �	� t = ∞� σ0 = 0.5� N0 = 100�
N = 10� 〈p̃〉0 = 10� t0 = 1�

&������� ��'���"� �����
�
�
��� ��������� ��
���� � ����(�� ������!
��) #��	*%+ ��)�
�,

ρmax
∞ =

√

Z∞〈p̃〉0. #$�	-%

�� ���� �. ��'�/��� /���������� ��'���"�� ��
'��� ��
���� �
������
���� ������ �� '������0
���
�'��� �����
��� t0� 1/ ����� ���"�'� ����� "���
��+ ��� ��� �
 ��
��  ���!�� /���
����
'���������
�'�) '�������� ��'���"� ��
��
���
�'��� ��
'��� �
��� � � ����� ���������� ��/0
'�� ��
���)+ ��� �
��
� ������������� ��/������ �
�
'��������
 �
������� �
������
����
������ � '�����
�'�� "��������

2��
���+ ��� �
������  
/��/�
���) ��
���� ρ ��'���
�'� �/����
�+ ��� � ����
�
��"� ����"
��
���� ������ ρ〈p̃〉0 �� ����� ��/ ��
��!�
� �
��
���"�" �
��'����� �������� 3�'�� � ��/��+
� ����
�
��"� ����" �� ���
� �� ������ ������� �
��'����
 ������� � ��
������ �����'� 	
456 � ��!
 � ��'���"�
 �����
�
�
���� ������ � 8������� �
��'����� ��������9+ �� ��

�
����" �������+ '�����
 ������ � ���
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